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3. #D. PBAP(X=a)=F(a)-F(a-0).

4. %B. P(X=D+P(X=2).

5. B . FIFEAAAHIHRE P(X < 1) =1/2.

l 10 1 10
6. #B. @mDY)=D =3'X.|=—S D(X,)fits.
) [mg ] 300X
7. %D,  WEF 4L

8. #D. BHMHAT %S ED(X) = o’ Mkt

L S
1. D=ABC UABCUABC 2. 19/27, 4/9 ;
3 f(y) = 025/ Jy (0<y<4), Ty
0 (3 Aih)
5. 13, 32.5 ; 6. —, —.
=, iHEE
3
1.(1) P(A)=) P(B,)P(AB)=07 : (2) P(B,|A)=8/21~0.38.
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2.(1) A=3/8; (2 F(X)={x’/8 (0<x<2), B Pl<X<2)=7/8.
1 (x>2);

3. P(X>Y)= [[f(x y)dxdy= [ dx[ e dy=e"
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4. (1) H,:u=1600, H,: z#1600 ; 4D : |U |=|—=2 |> 2 =1.96 .
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P(AB)=1-P(AUB)=1-P(A)-P(B)+P(A)P(B)

= P(A) - P(B)[1- P(A)] = P(A) - P(B)P(A)

= P(A)[1-P(B)] = P(A)P(B)].



